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[bookmark: _d1t5zjgms908]Background questions 
[bookmark: _wmtkcd7nr4rp]How do fireworks launch?
Fireworks launch because black powder (and other ingredients ex: potassium nitrate) is ignited (fuse cord) and that sends out a powerful explosion using the lift charge (composed of black powder), out the tail sending it upward into the sky at an average of 240 km an hour!
[bookmark: _t4pxj6qpq1qh]How do fireworks explode?
When ignited, the blast charge shell burns out and the firework star(s) split away and explode. This happens because the shell around the stars take the initial flame and starts burning out.
When this happens the air inside expands creating an explosion burning the compounds.
[bookmark: _qbd0o1dznwwx]Why do firework’s colours dissipate?.
It is because firework compounds are,when burnt, seeable for a short period of time before they burn out completely.

[bookmark: _39v7oy9vu30i]Knowing this is important because…
When creating a firework, you have to make that violent or subtle reaction won't occur inside the firework because of the heat,the sudden changes in between it being in a shell and  being in the air. The entire process is important because one thing might add too much heat and detonate the firework too close to the ground.
[bookmark: _x1vdcj7cfp1f]What compounds burn what colour
Strontium chloride or strontium nitrate burns red, calcium chloride burns orange,barium chloride burns,neon green,sodium chloride (table salt) burns bright orange,sodium borate(borax) burns light green,copper sulfate or boric acid burns teal green,copper chloride or butane burns navy blue,potassium chloride burns indigo and iron burns gold. This happens because the compounds contain energy and, when burnt, releases the kinetic energy of compacting and making it, then the chemical reaction with the flame causes the compound to burn the colour it does. The energy gets released in different amounts, and excites particles in the air, causing certain light wavelengths to hit the particles more frequently, ultimately resulting in it looking more one colour than the other.
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